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Name: __________________________________



1
What is the slope of a line perpendicular to the line whose equation is [image: image1.png]3x+4




?

2
What is the slope of a line perpendicular to the line whose equation is [image: image2.png]


?

3
What is the slope of a line perpendicular to the line whose equation is [image: image3.png]2y =—fx+8



?

4
What is the slope of a line perpendicular to the line whose equation is [image: image4.png]Sx+ 3y



?

5
What is the slope of a line that is perpendicular to the line whose equation is [image: image5.png]3x+ 5y



?

6
The equation of a line is [image: image6.png]


.  All lines perpendicular to this line must have a slope of

7
What is the slope of a line that is perpendicular to the line whose equation is [image: image7.png]ix+ 4y




?

8
What is the slope of a line that is perpendicular to the line represented by the equation [image: image8.png]X+ 2y=73



?

9
What is the slope of the line perpendicular to the line represented by the equation [image: image9.png]2x+4y




?

10
What is the slope of a line perpendicular to the line whose equation is [image: image10.png]0x-2y=146



?

11
What is the slope of a line perpendicular to the line whose equation is [image: image11.png]


?

12
The equation of a line is [image: image12.png]3y +2x




.  What is the slope of the line perpendicular to the given line?

13
The lines whose equations are [image: image13.png]2x+ 3y



 and [image: image14.png]y=mx+f



 will be perpendicular when m is

14
Find the slope of a line perpendicular to the line whose equation is [image: image15.png]


.

15
The slope of [image: image16.png]OR



 is [image: image17.png]


 and the slope of [image: image18.png]5T



 is [image: image19.png]


.  If [image: image20.png]OR L 5T



, determine and state the value of x.


1
ANS:


[image: image21.png]



REF:
061022ge

2
ANS:


[image: image22.png]



The slope of [image: image23.png]


 is [image: image24.png]


.  Perpendicular lines have slope that are opposite reciprocals.
REF:
080917ge

3
ANS:


[image: image25.png]



[image: image26.png]


  Perpendicular lines have slope the opposite and reciprocal of each other.
REF:
081024ge

4
ANS:


[image: image27.png]



The slope of a line in standard form is [image: image28.png]


 so the slope of this line is [image: image29.png]


   Perpendicular lines have slope that are the opposite and reciprocal of each other.
REF:
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5
ANS:


[image: image30.png]



The slope of [image: image31.png]3x+ 5y



 is [image: image32.png]


.  [image: image33.png]


.
REF:
061127ge

6
ANS:


[image: image34.png]



The slope of a line in standard form is [image: image35.png]


 so the slope of this line is [image: image36.png]


   Perpendicular lines have slope that are the opposite and reciprocal of each other.
REF:
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7
ANS:


[image: image37.png]



[image: image38.png]



REF:
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8
ANS:


2

The slope of [image: image39.png]X+ 2y=73



 is [image: image40.png]


.  [image: image41.png]


.
REF:
081122ge

9
ANS:


2

The slope of [image: image42.png]2x+4y




 is [image: image43.png]


.  [image: image44.png]


.
REF:
011310ge

10
ANS:


[image: image45.png]



[image: image46.png]


.  [image: image47.png]
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11
ANS:


[image: image48.png]



[image: image49.png]


  [image: image50.png]
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12
ANS:


[image: image51.png]



[image: image52.png]


  [image: image53.png]
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13
ANS:


[image: image54.png]



[image: image55.png]


  [image: image56.png]
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14
ANS:


[image: image57.png]


.  [image: image58.png]


.
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15
ANS:


[image: image59.png]
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